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L. index.html - AFE A 8B4 X{& = TIOIXI OI=

<script>
const userSelection = { scenario: "", level: "", input: "" };

function goToStep(n) {
document.querySelectorAll(".step").forEach((step) =>
step.classList.remove("active")
);
document.getElementById( step${n} ).classList.add("active");
}

function selectOption(type, value) {
userSelection[type]l = value;
if (type === "scenario") goToStep(2);
else if (type === "level") goToStep(3);
¥

3. app.py - AIZ2A &0 CHst Al I =88 &8

@app.route('/feedback', methods=['P0OST'])

def feedback():
sentence = request.json.get('sentence')
target_korean = request.json.get('target_korean')

if not sentence:

return jsonify({ "error": "2%2 AAsHQ." }), 400
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2. app.py - AlLI2I2 S|

@app.route('/get_scenario')
def get_scenario():
scenario = request.args.get('scenario"')
level = request.args.get('level')
try:
with open("data/scenarios.json", encoding='utf-8') as f:
data = json.load(f)
dialogue = data[scenario] [levell
return jsonify({ "dialogue": dialogue })
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except Exception as e:
jsonify({ "error": str(e) }), 500
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4. voice.html - S4 ClAl J|s

function startRecognition() {
if (!{'webkitSpeechRecognition' in window || 'SpeechRecognition' in window)) {
alert("A x| HetRHE 59 2AE XS BEHsuo");
return;
¥

const SpeechRecognition = window.SpeechRecognition || window.webkitSpeechRecognition;
const recognition = new SpeechRecognition();

recognition.lang = 'en-US';

recognition.interimResults = false;

recognition.maxAlternatives = 1;

recognition.onresult = function(event) {
const transcript = event.results[@] [@].transcript;
appendMessage(transcript, "user");
sendSentenceltranscript);
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"MISSION"

A: Hi there! Ready to order?
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A: Hi, this is H restaurant. What can | help you?
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- 28 ool 1: " would like to pre-order room service before leaving for the park."
- B ootk 2: "l would like to order room service in advance before heading to the park.”
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- pre-order = &2 & o|g| 5ct

- before leaving for = ~2 Mg off Hof
- in advance = 0|&], At&lo|
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| would like to order room service.
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"THE END"
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